Note: given the fact that you’re ‘obliged’ to answer the weekly questions, try to profit the most from the task:

- Start by reading the lecture notes.

- Looking at them as little as possible, answer the questions.

The answers to L14’s questions should be handed to me at the beginning of Monday’s lecture of 22th of May. They should be manuscript (not typewritten) and preferably based on schemes (as I do in the whiteboard). Keep a copy for yourself.

Please write Lecture 14 in bold at the beginning of your answers.
Lecture 14

Ch 3 Dynamic macro

II. The PK dynamic model (conclusion)

1.Present the three equations of the PK dynamic model
2. Derive the:

a) Kalecki’s profit equation (the equation which shows how profits are determined in the short-run).

b) Kaleckian multiplier (the equation which shows how output is determined in the short-run).

The effects of a decrease in saving
Two crucial ideas behind the whole argument:

1.My spending is your income => when I save less and spend more, you earn more and save more => in the short-run, overall S doesn’t change.
2. When I save less and spend more, businesses’ utilization and profits rise today => investment rises tomorrow =>

- AD and output rise tomorrow.
- larger production capacity tomorrow than otherwise (because we assume investment affects capacity without lags)
3. a) Within a Kaleckian static model, explain the effects of a sudden decrease in the autonomous saving of capitalists on output, unemployment, CB’s interest rates, investment, aggregate profits and aggregate wages and overall saving.
b) Overall, what are the effects on today’s and tomorrow’s welfare?
c) Are the effects of that sudden decrease in the autonomous saving of capitalists better or worse in a dynamic model compared to a static model? Explain.
The effects of a decrease in unit profit margins

Two crucial ideas behind the whole argument:

1. If all businesses raise their profits by reducing wages, workers buy less => businesses’ profits fall (back to the initial level, because aggregate profits’ are determined by capitalists’ expenditures). This is the semi-paradox of profits.

 2. When workers buy less, businesses’ utilization and profits fall today => investment falls tomorrow =>

- AD, output and profits fall tomorrow: the paradox of profits.
- smalller production capacity tomorrow than otherwise (because we assume investment affects capacity without lags)
4. a) Within a Kaleckian static model, explain the effects of a decrease in the unit profit margins on output, unemployment, CB’s interest rates, investment, aggregate profits and aggregate wages and overall saving.

b) Overall, what are the effects on today’s and tomorrow’s welfare?
c) Are the effects of that sudden decrease in the unit profit margins better or worse in a dynamic model compared to a static model? Explain.
